
Multiply by Negative Powers of Ten (G)Find each product.
77 × 10⁻¹ = 43 × 10⁻¹ =
83 × 10⁻³ = 88 × 10⁻² =
37 × 10⁻² = 13 × 10⁻³ =
97 × 10⁻¹ = 67 × 10⁻¹ =
51 × 10⁻² = 26 × 10⁻² =
83 × 10⁻³ = 19 × 10⁻¹ =
52 × 10⁻³ = 9 × 10⁻³ =
32 × 10⁻² = 2 × 10⁻³ =
75 × 10⁻² = 53 × 10⁻¹ =
80 × 10⁻² = 47 × 10⁻² =
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Multiply by Negative Powers of Ten (G) AnswersFind each product.
77 × 10⁻¹ = 7,7 43 × 10⁻¹ = 4,3
83 × 10⁻³ = 0,083 88 × 10⁻² = 0,88
37 × 10⁻² = 0,37 13 × 10⁻³ = 0,013
97 × 10⁻¹ = 9,7 67 × 10⁻¹ = 6,7
51 × 10⁻² = 0,51 26 × 10⁻² = 0,26
83 × 10⁻³ = 0,083 19 × 10⁻¹ = 1,9
52 × 10⁻³ = 0,052 9 × 10⁻³ = 0,009
32 × 10⁻² = 0,32 2 × 10⁻³ = 0,002
75 × 10⁻² = 0,75 53 × 10⁻¹ = 5,3
80 × 10⁻² = 0,8 47 × 10⁻² = 0,47
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